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YV G 35 WA T I9T 2 siF I e & @ 8 ek yvT §Ew 36
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W gT HAEMAI Fl 379 IW-YRadT & G G T BT |

General Instructions :
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()
(i)
(iii)
(iv)
(v)

(vt)

There are 36 questions in all. All questions are compulsory.
Marks for each question are indicated against the question.

Questions from serial number 1 to 16 are Multiple Choice
Questions (MCQs) of 1 mark each. Every MCQ is provided with
four alternatives. Write the correct alternative in your Answer-book

Questions from serial number 17 to 29 are 3 marks questions.
Answers of these questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions.
Answers of these questions should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History
and Question number 36 is a map question of 3 marks from
Geography.

(vit) Attach the filled up maps inside your answer book.
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T 1815 ¥ foer weier ot S Frefefan 8 ¥ e @ 2 1

(A) Hiewved & T
®) wRY e
C) Tg& T
(D)  3ffer & foree

Hgar
foaraam # a9 1907 # Zife ¥ Tpa F @rem @ 2
(A) sy fmm 7 & fa
(B) ufvsd @ =t fmy 7 F fow
(C) o fogam & @i & frn 39 & faw
(D) IR a=d w fm 3 F o
Who, among the following, hosted the Congress at Vienna in 1815 ?
(A) King of N_etherlands
(B)  Giuseppe Mazzini
(C) Duke Metternich
(D) Otto Von Bismarck

OR
Why was the Tonkin Free School started in 1907 in Vietnam ?
(A)  To provide modern educai;ioﬁ
(B) To provide western-style education
(C) To provide education to Vietnamese only
(D) To provide education to French children
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2. 1832 % FEGA & W F wEy § fefafad ¥ ¥ wd w7 @ 2
(A) T g W TE @aT T F B9 F g &
(B) 3¥99 TE & TF W7 T & &9 F q=ar & |
(C) & S & T Wod TP & ®9 § g=aT 9 |
(D) 399 %9 & & @ad @ F &7 F g @ |

g
faaaam & B0 el Ao F1 YE fefafad § § & oar ?
a) @A 9 fE
(B) foram femmant
©) wF M TH
D) T TEEHA

Which one of the following is true about the ‘Treaty of
Constantinople’ of 1832 ?

(A) It recognised Turkey as an independent nation.
(B) It recognised Greece as an independent nation.
(C) It recognised Germany as an independent nation.

(D) It recognised France as an independent nation.
OR

Who, among the following, was the founder of ‘Hoa Hao Movement’ in
“Vietnam ?

(A) Phan Chu Trinh
(B) Liang Qichao
(C) Phan Boi Chau

(D) Huynh Phu So
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3. fafafed 4 4 fog gued @ <fim o & w=<E UT§ =g fourh oRwd §

fera e fiett ? . 1
(A) oGS qEE

(B) i - R Wi

(C) A gHga

(D) T § & T

Which one of the following agreements gave reserved seats to the
‘Depressed Classes’ in Provincial and Central Legislative Councils ?

(A) Lucknow Pact
(B) IGandhi — Irwin Pact
(C) Poona Pact

(D) None of these

4. IR 1929 ¥ frAfafagd # ¥ 59 a@wE 7 9Ra & fau enfimes 2w &

Memie 91 T farar ? 1
(A) @E g '

(B) e Tomist

(C) e e

D) T 9 IR T

Which one of the following Viceroys announced a vague offer of ‘dominion
status’ for India in October 1929 ?

(A) Lord Mountbatten
(B) Lord Dalhousie
(C) Lord Irwin

(D) None of these
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5. Frefaten § 3 S T s o 2 2

(A) g
(B) s
©) fA

(D) TR

Which one of the following is a non-metallic mineral ?

(A) Lead
(B) Copper
(C) Tin

(D) Limestone

6. frefafad § ¥ S99 TR 9RG & TAS(E ToEH & ®9 F 39T 2 2

(A)  feeed
(B) - e
(C) ER
(D) TEER

Which one of the following cities has emerged as the ‘electronic
capital’ of India ?

(A) = Delhi

(B)  Kolkata
(C) Bangalore
(D) Hyderabad
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e YR W S de e ok et v % w9 § Rl @ 2 1
(&) R v |

(B) anfis wfefafy & e

© wwiEwtm

(D) mﬁﬁﬂﬁﬁaﬁaﬁﬁm

On what Dbasis is the industrial sector classified into public and
private sectors ? ;

(A) Employment conditions
(B) The nature of economic activity
(C) Ownership of enterprises

(D) Number of workers employed in the enterprise

frfafad T3 § ¥ 59 & § 959 @ 994 s 7 2 | 1

(A) T
(B) &
(C) TS
(D) TR

Which one of the following states has the highest road density ?

(A) Goa
(B) Kerala
(C) Karnataka

(D) Gujarat

7 ' P.T.O.



frafafad vsat # 9 fog & & i 97 % 969 eSS g 3 w9 H sfaa
¥g 2

(&) TR
(B) e
©) wERE

(D) wEmwWW

In which one of the following states does ‘Shiv Sena exist as a
regional political party ?

(A) Gujarat

(B) Karnataka

(C) Maharashtra

(D) Madhya Pradesh

frfafaa gt § § S0 & 999 @ g0 gREa-aw TSEs e &
YeH & S g 2

(A) < & W

(B)  wUI-u¥
C) = e
(D) @ ¥ fg S

Which one of the following facilities is offered by the Election
Commission to a recognized political party ?

(A) Party Name
(B) Manifesto
(C) Election Symbol

(D) Election Funds



11. frfafea <o § @ 59 w6 ¥ aenmd &t qo ¥ dead @ wafiea 7@ &

12.

32/1

St @ 2

(A) TRy
(B) UM
(C) 4t &
(D) ¥R«

In which one of the following countries is
over dictatorship ?

(A)

(B)

()
(D)

frefafad 2o § § f59 ts # 989 TSR qoTel §

(A)
(B)
©
(D)

Bangladesh
Pakistan
Sri Lanka

India

i
qeH

ST 3TShihT
GESUGEI

democracy not preferred

? 1

Which one of the following countries has a federal system of -
government ?

(A)
(B)
(C)
(D)

Congo
Sudan

South Africa

Tanzania

PUTSEE.



13. frfoafod @l & ¥ 59t § 96 329 @ § &9 YeH Fd ¢ 2

14.
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(A) ¥=[ @i

(B)  =re] @l

(C) o=t o7afy &t wEfy s

(D) =&d oeq vty & Gy

Banks provide a higher rate of interest on which one of the following
accounts ?

(A) Saving account

(B) Current account

(C) Fixed deposits for long period

(D) Fixed deposits for very short period

arRa # R el wRerl ¥ fau fefafad § ¥ w01 @ T wd SEa @ ?

(A)
(B)
(©)
(D)

=i &9
AR &%

W
R

Which one of the following is the main source of credit for rich urban
households in India ?

A)
(B)
(©)
(D)

Formal sector
Informal sector
Moneylenders

Traders
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15. frfafed § @ st ooy onffs o &t favvar 721 7 2 1
(A) 3% ol 3Efy 9% HIE B ARG oA IS @ |
(B) TR I o9 HAl § e @ @ ergEta 2 4 R
(C) 3 fava wim giaend suosy § |
(D) 3= 9Rfus uie auf q P F T oA TS g |
Which one of the following is not a characteristic of ‘Special
Economic Zone’ ?

(A) They do not have to pay taxes for a long period.
(B)  Government has allowed flexibility in labour laws.
(C) They have world class facilities.

(D) They do not have to pay taxes for an initial period of five years.

16, frafafeg & @ feas fou vee-fag (GmM) Efawes’ &0 suam fear S 2 2 1
(A FE IR
(B)  amqwT
(C) foswet s 9HH
(D) el W

‘Hallmark’ is used as a logo for which one of the following ?
(A)  Agricultural products

(B) Jewellery

(C) Electrical goods

I(D) Electronic goods

17, {.Sde'lﬂl & TS & uRRAT W vl T | 3
HYar |
foaam # 3 f@m & fAg SRR g0 3o U Rl 99 SuE @ auia
FHifT | Ix1=3
Describe the process of ‘Unification of Italy’.
OR

Describe any three steps taken by the French to develop agriculture
in Vietnam. ' '
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18. 37 uRftafqdl & sgren #ifsw, S8 idst 3 1931 § §fg9g 3Ew S ﬁ
g o 1 favia fear | :
Explain the circumstances under which Gandhiji decided to call off the
Civil Disobedience Movement in 1931.

19. <@ 3R W IAM H SMERYA IAM T FE Sl 2 2 HE A FHOT W
- FT | 3x 1=
Why is iron and steel industry called the basic industry ? Explam any
three reasons.

2o.mqi?ﬁ§mmﬁm-wﬁfﬁﬂwgmﬁﬁmﬁml E
Explain the improvements made by the Indian Railways in its
functioning. :

21. a9 REed & 5l 9) it o R & Sraull @ Ieei@ i |  241=3

Mention any four merits and any two demerits of air transport.

22. AU F AT & AT T TN ASHA Qe & avid FT |

Describe the ‘second popular movement for democracy’ of Nepal.

23, T W SR Idied fFW YER TS W gad e § 2 U eVl died WE
FIT | 3
How do pressure groups and movements exert pressure on politiés ?
Explain with an example. '

24, 9G¥ 79 WG ¥ar @9 ToHiGE o 9 YR WA SR widdd F HsEE
FA H AEH FA 8 2 IR A WE FC | 3x1=3
How do state or regional political parties contribute in strengthemng
federalism and democracy in India ? Explain with examples.

25. fava # 3 W 59 THR NedT # FEER SMUR FHM S gA F GEAT @
§ 7 3Tl Wfed wE AT | 3x1=3
How are some countries in the world facing foundational challenge of
democracy ? Explain with examples.

26. foyl =R HOr ¥ fafim 2 F IR # 59 yER Sedr W8 ? 3R gl
Wy ST | Fxl=d

How has foreign trade been integrating markets of different countries
in the world ? Explain with examples.

Cin
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27.

28.

29.

30.

31.

32.
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Waﬁiwﬁﬁﬁaﬁ#ﬁﬁﬁéﬁﬁ%aﬁamaﬂtﬁa@%wﬁw
a3 17 W s 1 gfe S 3

“Information and communication technology has played a major role in
spreading out products and services across countries.” Support the
statement. g

mﬁquﬁﬂi e YR SUHHE & 7eg HE ¢ 2 A e WY ST |

3Ix1=3
How do ‘Consumer Protection Councils’ help consumers ? Explain three
ways.

3 tffefadl & oy vy, 99 oid TeR fad <7 @ =4 8 &=d &1 3xI1=3
Explain the circumstances under which markets do not work in a fair
manner.

F N ¥ A e W A T G % fou s s g

& fow U Al =) Ul & avia Sl | 4x1=4
g

wﬁwﬁﬁm%ﬁﬁmﬁﬁr%mawg@mwsﬁ?ﬁﬁ

o gHERl @l 89 4 & fau 59 TR wE Fr 2 Wy i | 1+3=4

Describe any four measures which were introduced by the French
Revolutionaries to create a sense of collective identity amongst the
French people.

OR

Which were the two major problems before the French in the field of
colonial education in Vietnam ? How did they. try to solve these
problems ? Explain.

ool HaE TS B & 7 AR @ st & fed ¥ 3Ra s H S Jfte
Wy FT | | 1+43=4

Who was Alluri Sitaram Raju ? Explain his role in inspiring the
rebels with Gandhiji’s ideas.

Gfte gaeEl & G = eEvEs @ 2 ©fie dunEl & uen & R dE
Wﬁwaﬁml 1+3=4

Why is conservation of mineral resources essential ? Explain any
three methods of conserving mineral resources.
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33, R SR qlel # Wy SifNe, SAF iedites Faed SEaEa 3R T @ &9
0 A gud @& € dx1=4

Explain any four ways in which demoéracies have been able to reduce
inequality and poverty.

34, 9T W FHAH WHN T FOX F STIRE HAl B BEAYOIN W AR W 7 2

39 U & SRR @ WY HIT | _ 1+3=4

Which government body supervises the functioning of formal sources
of loans in India ? Explain its functioning.

35. T U - A IR B, WRA & Y T THIfGE W-AERET (I8 17 W) W 3ifET
fau U | 39 ool B fEfaied SHEM # qee ¥ gEHU 3R 39S Gel T
AT | @i T W@l ) fafE 2x1=1
A, T WM, W@ WRAE TEE S w6 SAyawE 1927 F gam o |
B. 9% WM, &l 9fa"g Ew Ao WRET I o |

AGAl

frfafas ool & wRa % 36 e YEr-aEeE (I8 17 R) R ITF fegi
g fqERy 3 3TH e am fafe - 2><1'_‘=

(i) W—a‘sw,w:ﬂﬁﬁ@?ﬁmaﬁ%ﬂﬁwﬁwgm |
(i) ST - 9@ WM, & fFEEl F Fme geu |

Two features — A and B, are marked in the given political outline
map of India (on page 17). Identify these features with the help of
the following information and write their correct names on the lines
marked in the map : -

A. The place, where the Indian National Congress Session was held
in 1927.

B. The place, where the Civil Disobedience Movement was started.
OR

Locate and label the following features with appropriate symbols on
the same political outline map of India (on page 17) :

(i)  Champaran — The place where the movement of Indigo Planters
took place.

-(ii) Kheda — The place where the Peasant Satyagraha was held.

32/1 : 14



36.

9 @& A, B 3R C wRa F fou T ToHifas W-aEfeT (I8 19 V) R 3ifE
ﬁqwélsﬁaavhﬁﬁmﬁif@ammﬁm@mﬁqaﬁ?maﬁw
qafer | @i T el w fafey 3x1=3

A S @H
B. dfeam dafE e
C. U wemml w& 7 @ 3f<w BYH

AGaT

frfafias @&ol ® ARa & T TSHIGE @-AEE (T8 19 W) W 39w U8 9
3iferd HifST 3R 39 W fafEw . | b oo
() foremé - o ok Te @

(i) RO - nftas w99

(iii) Weem - L T

Three features A, B and C are marked in the given political outline
map of India (on page 19). Identify these features with the help of
the following information and write their correct names on the lines
marked in the map :

A. Mica mines

B. Software Technology Park

gl Terminal Station of N.H. 7

32/1

OR

Locate and label the following features with appropriate symbols on the
same political outline map of India (on page 19) with appropriate
symbols :

(1) Bhilai — Iron and Steel Plant
(ii) Narora — Nuclear Power Plant

(iii) Kandla — Sea Port

15 | P.TIO:



Note :

35.

36.

(35.1)
(35.2)
(35.1)

(35.2)

(36.1)
(36.2)
(36.3)
(36.1)
(36.2)
(36.3)

Frfoafad 799 a7 giegiT Temaa & 9T J99 §&Ir 35 336 & @
wE:

The following questions are for the Blind Candidates only, in
lieu of Q. No. 35 and 36 :

faqar 1920 ¥ YR TPF A9 & gC AEvE & ©@H H AW Tq5C |
fre T R wfag A Sded H YRS & 2 1+1:

Name the place, where the Indian National Congress session was
held in September 1920. :

At which place was the Civil Disobedience Movement started ?

firend e 3R T 6997 fog usg o fem @ 2

Fles TS ¥ figq forlt & S O S AW 9495 |

TR & TEE HON @ TR T F A AR | 1+1+1
i which aBite is Bhilai Tron and Stedl StantAocatar? |
Name any one Technology Park located in Karnataka state.

Name the southern-most major sea port of India.



For question no. 35 and 35 (OR) v €. 35 TE 35 (@) & fow

Outline Map of India (Political)
WA &1 T@I-AFe (TSTHTae)
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For question no. 36 and 36 (OR) 39 9. 36 W& 36 (I1gEm) F fau

Outline Map of India (Political)
WA &1 T@T-THfes (TSTHiTeh)




